QUESTION BANK
SOCIOLOGY

UNIT-IlI

Social Institutions: Continuity and Change

H 7PV (Assertion-Reason) (01 Mark)

Answer Options 3¥R fa&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R AT TEYE, 3R R, A T TE SATEAT R |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R &Y TETE, AIfheT R, A T TEY cATEAT LT & |
(C) A s true, but R is false.
ATEN g, AfShaT R I B
(D) A is false, but R is true.
A ITeId &, eifchel R @RI B |

QUESTIONS-

1. &= (Assertion) A: Caste system has been a major basis of social stratification in India.
A: ST SHTEIT AR # AHATSIS TAUEAOT 1 Th T TR @ 8

®RY (Reason) R: Industrialization and urbanization have completely eradicated the caste
system.

R: 3iteefieRtor 3R eEdleoT & FRUT ST ST FATCT & IS gl
2. A: Tribal communities have distinct languages, traditions, and customs.
A: ST FHErT i 3m9elr fafdse serd, Rowe 3 §fa-Rars g1 &
R: The Indian Constitution does not recognize the distinct identity of tribal communities.
R: HIRCY FIAUT Siefaicy @Hert &1 fafise ggare @l Aeaar =g &l
3. A: Family and kinship play a crucial role in Indian social life.
A: IRER 3R AR ARAT AT # AATSF SNasl &1 Teh Ageaqol fear g

R: Due to globalization, family and kinship relationships have completely lost their importance.

R: RATHIOT & HROT IRATR IR ATAGRT HEl T HAged QU g FATT g1 T
gl

4. A: The joint family system provides economic and emotional security.
A: §gFT IRER YoOTTell 37T 3R sraeliess JIaT Jerked Hdl &

R: Due to urbanization and migration, the nuclear family system has become more common.

R: FIEOT 3R 991 & SHRUT Tehel IRAR YoTTel 31T gafad & a5 gl
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10.

A: Caste-based reservation policies aim to provide social justice to marginalized communities.

A: S 3menRa 3metor Afaat o & R W Alse weerl # aefas =
UeTel el % 3662T | s IS g

R: These policies have completely eliminated caste-based inequalities in India.

R: 31 sNIfaal & &SR0T 9 A afd 3merRd 3raAeta ff awg gAed g 1% &
A: The caste system in Indian society is based on birth.

A: ARAT FATS #F Sffd STGEAT FoA T AR 8 g

R: The caste system does not have a concept of hierarchy.

R: ST SAGEAT H FT-sirg &1 JATUROT Fgr gl

A: Many tribal communities still maintain their traditional lifestyle.

A: FF SIS FHE ST 8 3=l IRIRSF Sfigel Aol I =1 gT &

R: All government policies are focused on fully integrating tribal communities into urban life.

R: TR T Tl AT STAoTciid FHerdl @ gl shasl # Q¥ ag Tehlehel el
W Hfed gl

A: In traditional Indian society, marriages are often arranged based on caste and gotra.

A: YRR AR FATS A fdarg 3l S 3R 9T & 33U W) qF e ¢
R: The number of inter-caste marriages in India is very high, making the caste system irrelevant.
R: R faamgt & T&am AR # §ga A0 ¢ 3R Ig A gawam i

IITE TR FAT T §

A: The caste system has been based on occupation, karma, and social prestige.

A: SIfa cTaEAaT &7 3MUR &#, 92 3 gEfes gfaser @ g1

R: The caste system is a rigid and unchangeable social structure.

R: Sfd sgaeer v R 3 3uRadsi amifoe a@3@er gl

A: Kinship relations are based on marriage, blood ties, and adoption.

A: AR H@9Y fJarg, @ d9y 3R Mg o W 3maid g gl

R: In modern Indian society, kinship relations have no importance.

R: 3MY{eh HRAT FATST H ATCGRT Tl & IS Heed =16l @ I14T &

§gld®cdlg 797 (Multiple-choice Questions) (01 Mark)

anfer sqaeyr # FET fFAvar 7=
What is the primary feature of the caste system?

A. g arfaefierar (Social mobility)
B. IeH HTUTRT FIHTRIOT (Birth-based classification)
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C.IgAT #T FaAAAT (Freedom of occupation)
D. sifaat & & AT (Equality among castes)
2. HRAT FATST # "SfAaE” (Casteism) i geifar &2

What does "Casteism" in Indian society refer to?

A. Sifaat & & w@gater (Cooperation among castes)

B. ATdT sigsa 3iX q@h‘g (Caste discrimination and prejudice)
C. St arfaefierar (Caste mobility)

D. 99/ay AT (Occupational equality)

3. frw rfafaesr @ s snfaat (sO) 3R seqqfRa seenfast (ST) & faw g i
FATCT I ST 94 FAr

Which Act aimed to eliminate discrimination against Scheduled Castes (SC) and Scheduled
Tribes (ST)?

A. Sifd 3eogere AfAfATA, 1969 (Caste Abolition Act, 1969)

B. 3pqfaa sinfar v IqqfRa srerenfar (3reamar faaron) sfafae, 1989 (SC & ST
(Prevention of Atrocities) Act, 1989)

C. gTAS® |ATTAr FATA, 1975 (Social Equality Act, 1975)

D. 3&Tor gUR sfafaae, 1992 (Reservation Reform Act, 1992)

4. FASATAHT FAGHT (Tribal Communities) T HTATINF AT F AT 9 § Fy FrF &
afenRa = arar &

Which factor primarily defines the social structure of tribal communities?

A. 3% gl Sfiaet el (Their urban lifestyle)
B. Fﬁﬁ? AT 3R ‘IﬂTfﬁﬁ'T AT 9 fAREAT (Cultural homogeneity and

dependence on natural resources)

C. anfa 3raRa fAsTSIer (Caste-based division)
D. AETYRT #1 rdeagryr # 3Tw HEiERY (High participation in mainstream economy)

5. 9Rd # "HHEAT SATSATQAT (Particularly Vulnerable Tribal Groups - PVTGs) &Y 3Taenom
F Al i 18
Why was the concept of "Particularly Vulnerable Tribal Groups (PVTGs)" developed in India?
A. gl FASAAT FY AT A & & T (To provide equal benefits to all tribes)

B. 98 HHSIR SIATadl i AT @grrar & & AT (To provide special assistance to

the most vulnerable tribes)

C. %ae BF_I_;HﬁT-l' SISl HT HRETT a4 & fAT (To provide reservation only to
Scheduled Tribes)

D. gl &y & FAenfadt gﬂﬁﬁﬂ' # & fT (To rehabilitate tribes in urban areas)
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6. AR FATST A WIFd IRAR & F&T RAdwar F=ar

What is the main feature of the joint family system in Indian society?
A. 31fd& Tgdaaar (Economic independence)

B. Thel fIdt &1 IRAR (Single-generation household)
C. s aufy 3k Wﬁ?@' faotr (Shared property and collective decision-making)
D. YRaR & wewEal 1 Faradr (Autonomy of family members)

7. Fafaf@a & @ Fia-a1 RaR F Ruea 1 go7@ FROT
Which of the following is a major cause of family disintegration?

A. agdieor 3R HT%ﬁWUT (Urbanization and modernization)
B. 3Td 9IRGIR& T&HdT (High family unity)

C. grATT® qIURI3T ST qreleT (Following social traditions)

D. tﬁﬂ'iﬂ' & g dlerc (Harmony between generations)

8. "RrqudarcH® aR@R" (Patriarchal family) T FET F&TOT FAT 32

What is the main characteristic of a "Patriarchal family"?
A. Hﬁﬂﬁﬂ' ) EI'JEl;@' YT (Dominant role of women)

B. E_I,W‘ﬂ' CCLUR L) faolr /AT (Decision-making by men)
C. 91 FATET (Gender equality)
D. ¥4t CCIRY qRar &1 ﬁﬂﬁ' (Leadership by children)

o. frafaf@a # ¥ Fla-w1 sRaRs waen & aRads &1 sror a8
Which of the following is NOT a cause of change in family structure?

A. 3ﬁa:a17hwor (Industrialization)

B. AfgaT FfFaaIor (Women empowerment)
C. fremm &1 ¥R (Spread of education)

D. gTATS® fEUIAT (Social stability)

10. 9Ra # fare #1 ve Ageaqot AEnfoT w1 F4T 87
What is an important social function of marriage in India?

A. Fae 3TfdF FUIET (Only economic stability)

B. @97 YXWRT &Y FIT T@AT (Maintaining lineage tradition)

C. sqfFdeTd TaaFdT eI=T (Increasing personal freedom)

D. HTHIS® AT &Y FHATCT HIAT (Eliminating social control)
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fA735a ST go7 (One word/definite answer questions) (01 Mark)

1. Which term refers to the practice of marrying within one's own caste?
I @ Sfa H Rae FA A TAT F FA FEd

2. Which ancient text is considered the primary source of the Varna system?
FleT AT gl T Fo STEEYT FT [T WA AT ST 2

3. Who introduced the concept of 'dominant caste' in Indian sociology?
HRAT FATTARA # ‘gHGATE S’ H Fheus fHaa &r

4. Which term is used for the official recognition of Scheduled Tribes in India?

T & HHRAT Sefonfadl i fAFRE Agar F fAv Fla a1 orsg y@WT g
e

5. Which constitutional article provides protection and benefits to Scheduled Tribes?
HRUE F1 FlT A AeOE ITYRT FAiaAl F HET AT A TaT FIT 2
6. What is the term for the process of integrating tribal communities into mainstream society?
anfeardt FHErat F AEIURT A FATST A MAT F F GHFAT F F47 Fed
7. Which type of family consists of parents and their unmarried children?
T Fia @1 IRaR @ar @ A Saw Aa-Rar Ak 3aF sRaRa s e
8. What is the term for tracing lineage through the father's side?
Fenae Y Rar # 3T F G i GfFAT F FAT Faa
9. What is the kinship term for marriage within the same kin group?
% & FZq HF A [aw w1 A 0 B T T 8
10. Which system of kinship allows inheritance through the mother’s line?

¥l FlT A Fa cgawwr § O Rwwa A # AR & wrea @

3fd &g Sci¥lg Fo7 (Very Short answer questions) (02 Marks)

. #RA & ST cFaeAqT H Toh ‘& WA cqaedqr 4t AT S §?
Why is the caste system in India considered a 'closed social system'?

2. i HieGIafertor 3R AENHOT & GRIRS HHATSH TABI A1 fhd TR
weATiaT foham g2

How have modern industrialization and urbanization affected traditional social structures?

3. #ARAY E@fAue garT A A dfad g9t & 3cur & fou Hia-wla & 9w gaur
frw arw g2
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10.

What special provisions have been made in the Indian Constitution for the upliftment of
marginalized communities?

aRARIOT T AR fafaedr iR aRuRS Shaaiell X Far yerma 9T &2
What has been the impact of globalization on cultural diversity and traditional lifestyles?
HRATT AT H IRAR & TFT H Ao & gl # FI7 IR §37 &7
What changes have occurred in the structure of families in Indian society over the past few
decades?

gRar AR Feut & HEuReT IMyfAE e F Y AT 8 W
How is the concept of family and kinship evolving in modern society?

S 3T @t & A T S 3§

What are the key differences between caste and class?

faarg 3R ISR & T H WRET FAS IR IMYAs TAS H 41 97
What are the major differences between traditional and modern societies concerning marriage
and inheritance?

rafaafdes emae dr Afaat 3 Ty aAfee a3t @ &8 genada feam
How did colonial policies impact local social structures?

IR AT &7 o 3 gmfas 3/gasar & S a7 g9y g2

What is the relationship between gender and social inequality in Indian society?

g IarvIg F97 (Short answer questions) (03 Marks)
Sfd SgaEdT &1 FAS A Igad & Hest H [Feaver AfFw)

Analyze the changes in the caste system in society.

a1 aifar saaedr I oY R #F WS AT FY qaTT @ 82 Aediw
HifaT

Does the caste system still perpetuate social inequality in India? Evaluate.

AT FHSTAT F IRuRF Shigardtelt w amyfasor ik site@ifeor & gama
fareeryor Fifaw)

Analyze the impact of modernization and industrialization on the traditional lifestyle of tribal
communities.

T TTATAT YA ! TAT T & fav 3ReIor 3R 9w 3ifer w@aca &
9 R gvqd HifSTl

Are reservations and special rights sufficient to preserve tribal identity? Present your views.
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5. HRd # RGN g1 & e gRadar i gAen Hifaw
Review the changes in family structure in India.

6. wiRaRe® sfwnit & aRads & wror sk gemat &1 RAeawor fifsw
Analyze the causes and consequences of changing family roles.

7. AR # f¥ae dFUE & 95T TR W 0F ATAATcHT ToehIor &qd el
Present a critical perspective on the changing nature of the institution of marriage in India.

8. UIRER® A== W dediFor & yaa &1 fagawor Hifsw)
Analyze the impact of globalization on family structures.

9. wnfa 3R aRER & Fayw & wwnfow afadaar : gfaw | a9t Hfow
Discuss the role of social mobility in the relationship between caste and family.

10. #RT & IRINF Fga e7awyT 3R Iyfas qarer & i qgelar g0 @ A
galfaat &1 feavor A

Analyze the challenges in maintaining a balance between traditional joint family systems and
modern society in India.

&E ST g (Long answer questions) (05Marks)

weeT: 3ieaefieor 3R Jediior o ART & Sifd cgawar & &a gefad fomar g2 &=
aﬁ@rmﬁmmﬁaﬁrgﬁ%‘?mwwﬁl

Question: How have industrialization and globalization impacted the caste system in India? Is caste
still relevant today? Explain with examples.

WeA: FAT SMfa cTaTAT AHATTSIH ITTaRierdr FI demar ¢l & IT SIS FXdl 8239 Teel &
fR1eT 3R 3w rae’t i iR FH1 ey ST

Question: Does the caste system promote or hinder social mobility? Analyze the role of education
and economic opportunities in this context.

TeT: IR AT H SAMA-3TTRA ASHT T AT FT & [T Hid-splad T qraenT
fpw aw &2 Fr 3 gy £ 379er 3T FT FHSTONT 3EEI0N & iy gHAT S

Question: What provisions in the Indian Constitution aim to eliminate caste-based discrimination?
Are they effective? Support your answer with contemporary examples.

YRE: IR SeTollcid FHE fohel ATATTS 3R 3T YA &1 THAT T @ 82 51
HHEATI & AT & [T TSR @RI 381T T Al H alvor Hifav|
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Question: What social and economic challenges do tribal communities in India face? Analyze the
measures taken by the government to address these issues.

W IMYTAhIRTuT 3R ALAROT & HROT SIS Tgdlel hd Fenfad g W@ 82 31 Jg
HERT & BT & IT 3efeholel? 3Tl 3 T 360N Al TI5C ST

Question: How has modernization and globalization affected tribal identity? Is it a case of cultural
erosion or adaptation? Explain with examples.

YRe: IR H IRURS AYFd IRAR GUlell & gTel o exlehl H AT Feelld 3T g2 of
aRadal & HRON HR 36 AHATSS Jerat 1 fageror Hifaw|

Question: How has the traditional joint family system in India changed in recent decades? Analyze
the reasons for these changes and their social implications.

YRe: IR GATS # 9d1g T WM HTUROMU 3Tforeh Saeell 3R S gurt
% HROT HY g1ad g5 & 7 el

Question: How have traditional notions of marriage in Indian society been affected by modern
lifestyles and legal reforms? Discuss.

weeT: IRAR A A1 fASIIT & g W dgaral &1 [aelwor hifav| w1 4 dgela
Afgen3 & FerfFdstor @1 gefid 87

Question: Analyze the changes in gender roles within the family. Do these changes reflect women's
empowerment?

geeT: ergdeeoT AR Aigarefeor A R T aRaike caaear & 8 werfad faar g2

FIT Tg Fcolld JPRIcHD 8?2

Question: How have urbanization and industrialization impacted India’s family system? Are these
changes positive?

yeeT: IMYfAF FATST A IRaR 3R et H aRerr I gga W 2 58 9Radd F wew
HROT Fr fgauer HfAT|

Question: How is the definition of family and relationships changing in modern society? Discuss the
key reasons behind this transformation.
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Case Study Based Questions

Case Study 1:
Caste and the Caste System

India has a long history of caste-based social stratification. Caste, as a social institution, has evolved
over centuries. Traditionally, it classified people into four main groups: Brahmins, Kshatriyas,
Vaishyas, and Shudras. However, over time, this system became more rigid and complex, leading to
the emergence of untouchability practices. Despite modern laws prohibiting caste discrimination,
caste continues to influence many aspects of life, including marriage, education, and employment.
The caste system also has a deep connection with the concept of "Varna" and "Jati" (sub-castes),
which still play an important role in rural and urban areas.

IRT # Afa-3meRa Grfoe TIHOT T U oeT 3fagd §1 Sifd, T ATHToS &
& &7 A dfedt ¥ OHfAd g8 &1 IRIRS T & 58 IR ATF 0 A dier A o
STEAUT, 87733, 37 3N 2| FTelifeh, AT & AU Ig Yulrell 31T FoR 3 Jfed g 8,
S e HROT 3EqRAA 1 JUW 3| HYAF Pl & ddsg Aiade AGHET W
FISEr el & dldsfe, Sifa 37TsT 8 Siiae & 3% uge3i s faarg, e 3R JseR W/
JHTT STl g1 ST JOTell T g Y "goi” iR "snfa" (3u-snfaan) & of & 5 31
#ft gmeior 3R el & F Fgcayqot HfAe e €

Questions:
1. What are the main categories of the caste system in India?

AR & S eFaedT & J&T 91 Hle-ala & g2
(1 mark)
2. How has the caste system evolved in contemporary society?

HHSTNA AT ﬁaﬁwﬁmﬁg‘é%‘?

(1 mark)
3. Explain the role of caste in modern India.

M R H ST &7 FA7T Heed &7

(1 mark)
4. Discuss the significance of the caste system and its impact on rural and urban areas.

S eTaEAqT T Aged 3R 31 Aor 3R Al &9 W 9sa W Tar A
(2 marks)

Case Study 2:
Tribal Communities

Tribal communities in India have been historically marginalized and often live in isolated regions,

maintaining their traditional lifestyles. These communities have a unique cultural identity, with
distinct languages, customs, and religious practices. Despite this, they have faced various challenges
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such as displacement due to development projects, exploitation by outsiders, and loss of their land. In
recent years, there have been efforts to protect their rights, including affirmative action policies,
reservations in education and employment, and recognition of their distinct cultural practices.
However, they continue to face issues of discrimination and socio-economic backwardness.

AR # Jfeard dee Ufde@s §9 & g X @ ¢ 3R 3 3eer-gofr e &
@ &, 9 IRIRE SAIaerdiel $1 Fa0 W §UI 3T T A Th Hefacdig Apicn
gl g, e Qe e, 3fa-Rarsr 3R arffis gurd §1 s@s dragg, 3w¢ e
AT T AHAT AT T37 & S o Ahr aRASTABT & FROT faeumye, sl s
EaRT ANV AR 37l FHNT Fr gifed| gTer & auf H 3% FUSERT $r /T & fov g7
frw v §, oo IFRIcAS wiars Aifaar, e 3R Jeem 7 3meter 3R 3 faftse
ARERiceh Uit i Al-gar ffer g1 O off, 3 Seerna 3R aefos-3nids Mogua &
THEEAT HT THAT A §

Questions:
1. What are the major challenges faced by tribal communities in India?

HRA H 3MEard FHEMET &l Hled-hie B TG AT HT FHAT AT ISl g2

(1 mark)
2. Explain the significance of affirmative action policies for tribal communities.

nfearl FHE™T & T FhRIcHS HRATS Afadl 1 Heed FHASAT|
(1 mark)
3. How has the displacement due to development projects affected tribal communities?

faerre aRAISTAT3T & SROT fawudeT  nfeardr eert wF S gsriad fohar g2

(1 mark)
4. Discuss the role of the government in protecting the rights of tribal communities.

JMieare G & HTUSHRT HT W/ HA THR HT AT ) T A
(2 marks)
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